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iTerm Shell Edit View Bookmarks Window Help

>[{"suit"=>"spade”, "rank"=>13}1}} {"players”=>
I, [2067-08-31T18:00:15.616500 #12611] INFO -- : [outc]: pass => nil {"player”=s

I, [20687-88-31T15:8@:15.616805 #12611] INFO -- : [outo]: pass == nil {"usernome”=>"0 M » k2%, CntoshHD

I, [2087-98-31T16:00:15.617075 #12611] INFO -- : [closed]: do {"pass”=>nil} “id"=>"test@l2®, sl

I, [2867-88-31T18:88:15.617544 #12611] INFO -~ : [closed]: do {"put”=s{"cords®= *Lndex"=x"2"

#[{"suit"=>"diamond", “rank"=>1}]}} “auto"=="false",

I, [2087-88-31T18:08@:15.617971 #12611] INFO -- : [outo]: pass => nil "audience”=>"false”, w

I, [2067-88-31T16:0@:15.618261 #12611] INFO -- : [outo]: pass == nil "leaving"=>"false"}}}i}>.

I, [2087-88-31T15:00:15.618526 #12611] INFO -- : [closed]: do {"pass"=»nil} Flllscreensiipng
I, [2867-88-31T18:00:15.619119 #12611] INFO -- : [closed]: do {"put"=>{"cards®= & tests, 72 assertions, 2 failures, @ errors e
»[{"suit"=>"diamond™, “rank®=>2}]}} machopk{masoto}® ruby test/unit/gome_server_millionaire_test.rb

I, [2087-88-31T15:00:15.619848 #12611] INFO -- : [outo]: put == {“cords"=>[{"su Looded suite test/umit/gome_server_millionaire_test

it"=>"spade™, “rank"=>5}]} Started

I, [2867-88-31T15:08:15.620363 #12611] INFO -- : [outo]: put => {“cords"=>[{"su ....F.

it"=>"spade”, “rank"=>6}]} Finished in 132.108819 seconds.

1, [2007-98-31T18:00:15.620827 #12611] INFO -- : [closed]: do {"pass"=>nil}

I, [2087-88-31T15:80:15.621102 #12611] INFD -- : [outo]: pass => nil 1) Foilure:

I, [2087-88-31T16:08:15.622251 #12611] INFO -- : [owto]: put == {“cards"=>[{"su | test_join_as_player{GameServerdillionaireTest)

it =>"heart", “rank"=>8}]} [test/unit/gome_server_millionoire_test.rb:373:in “test_join_as_player'
I, [2987-88-31T1E:00:15.626858 #12611] INFD -- : [outo]: put => {“cords"=>[{"su test/unit/gome_server_millionaire_test.rb:369:in “each’

it"=="spade™, "rank"=>9}1} test/unit/gome_server_millionaire_test.rb:369:in “test_join_as_player'
I, [2007-98-31T18:00:15.626694 #12611] INFO -- : [closed]: do {"put"=>{"caords"= | test/unit/game_server_millionaire_test.rb:358:in “times’
s[{"suit"=>"club"”, "rank"=>18}]}} test/unit/game_server_millionaire_test.rb:353:in “test_join_as_player']:
I, [2007-98-31T18:0@:15.627159 #12611] INFO -- : [outo]: pass => nil <{"millionalre =

I, [2007-98-31T18:09:15.627425 #12611] INFO -- : [outo]: pass =» nil {"joined =

I, [2007-88-31T1E:080:15.627939 #12611] INFO -- : [closed]: do {"put"=>{"cords®= {"players"=>
s[{"suit"=>"diamond", “rank"=>8}1}} {"player= =
I, [2007-28-31T1E:00:15.628451 #12611] INFD -- : [outo]: put => {“cards"=>[{"su {"username”=>"0 M = 27,
it ="club®, "rank®=>7}1} "{d"=="testil12",
I, [2007-28-31T1E:09:15.685474 #12611] INFO -- : [closed]: do {"rooms"=>nil} "{ndex"=>"2",
I, [2087-28-31T1E:00:15.687814 #12611] INFO -- : [closed]: do {"rooms"=>nil} "outo"=x"false",
I, [2007-88-31T18:00:15.688477 #12611] INFO -- : [outo]l: rooms == nil "oudience”=>"false",
I, [2087-28-31T18:09:15,680848 #12611] INFO -- : [outo]: rooms == nil "leaving"=>"false"} 111> expected but was
<{"millionalre = I
{"left"=>
{"players"=>
{"player =
{"username"=>"0O0 M v 2",
"d"="test@l2",
"{ndex"=>"2",
"auto"=>"false",
AC "audience™=>"false" ,
"leaving"=>"false"}}}ii>.

[B8697] @8/31 23:18 [m/houyhnhrm/ trunk] |6 mtl. 72 u:u'il:inm-, 1 failures, @ errors

[8697] B8/31 23:18 [m/houyhnhnm trunk | me ERROR:1] BB/31 18:08 [m/ i/ trunk
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